



WEBINAR EVENTS	PRICE
Panellist live webinar (one of 3 presenters) – 45mins	£3,000
Focused solo partner webinar – 15min presentation or interview	£2,000
EDITORIAL CONTENT	
Online sponsored article (inc. social support) Oct/Nov 2020	£1,000
School video	£300
School virtual tour video	£300
International Schools – the future 2021 and beyond! Jan/Feb 2021	£800
ONLINE ADVERTISING	
Schools fair page takeover (1 week)	£1,500
Sidebar button banner	£500
RELOCATE GLOBAL SUBSCRIBERS EMAIL	
Weekly fair education extra newsletter (1 of 4)	£1,000
DIRECTORY	
Directory listing (1 year)	£500
School prospectus available for download	£100

PREMIER SPONSORSHIP THE GREAT INTERNATIONAL EDUCATION & SCHOOLS' FAIR

WEBINAR EVENTS	NUMBER	PRICE	TOTAL
Focused solo partner webinar -			
15min presentation or interview	1	£2,000	£2,000
Panellist live webinar (one of 3 presenters) - 45m	ins 2	£3,000	£6,000
EDITORIAL			
Online sponsored article (inc. social support)	3	£1,000	£3,000
International schools – the future 2021 and beyon Jan/Feb 2021	nd! 1	£800	£800
ONLINE ADVERTISING			
Schools fair page takeover (1 week)	1	£1,500	£1,500
RELOCATE GLOBAL SUBSCRIBERS EMAIL			
Weekly fair education extra newsletter (1 of 4)	1	£1,000	£1,000
INDIVIDUAL SCHOOL SUPPORT*			
Directory listing (1 year)	10	£500	£5,000
School video	10	£300	£3,000
School virtual tour video	10	£300	£3,000
School prospectus available for download	10	£100	£1,000
TOTAL COST			£26,300
DISCOUNTED PRICE		25%	£19,725

^{*}This package is designed for School Groups and can be bespoke to meet your needs.

SCHOOL DIRECTORY & VIDEO SHOWCASE PACKAGE

INDIVIDUAL SCHOOL SUPPORT	NUMBER	PRICE	TOTAL
Directory listing (1 year)	5	£500	£2,500
School video	5	£300	£1,500
School virtual tour video	5	£300	£1,500
School prospectus available for download	5	£100	£500
TOTAL COST			£6,000
DISCOUNTED PRICE		25%	£4,500

This package is designed for School Groups and can be bespoke to meet your needs.

SCHOOL EDITORIAL & SHOWCASE PACKAGE

EDITORIAL	NUMBER	PRICE	TOTAL
Online sponsored article (inc. social support)	1	£1,000	£1,000
ONLINE ADVERTISING			
Sidebar button banner	1	£500	£500
INDIVIDUAL SCHOOL SUPPORT			
Directory listing (1 year)	1	£500	£500
School video	1	£300	£300
School virtual tour video	1	£300	£300
School prospectus available for download	1	£100	£100
TOTAL COST			£2,700
DISCOUNTED PRICE		25%	£2,025

Think GLOBAL PEOPLE

- Quarterly magazine & digital supplements
- Leading global website relocateglobal.com
- Education & schools guides
- · Global Mobility Toolkit
- Awards & events
- Webinar & video
- E-newsletters

relocateglobal.com thinkglobalpeople.com



- in Relocate Global
- f /likerelocate
- @relocatemag #relocatemag
- RelocateMagazine

+44 (0)1892 891334

Editorial coverage: education@relocatemagazine.com

Advertising enquiries: tom.ward@relocatemagazine.com or annabel@relocatemagazine.com